o O

LY ] d
- r—;l ‘! D m) L=5.1m

B [jmu ‘ E

—% —————e o ———

No. 1+10. 6

No. 4+16.0

No. 7+16.5

No_12+7 ;

No 7+11.2
No.12+0.9

1
|
|

FH1=-574 FH1=-516

| FH1=-450
FH2=—691 FH2=—569 E FH2=-466
FH1=-526

[]
| c
(L=61.4m| 1= (L=59. 2m. 1=0. { ‘;—j D _ |
— =EkFET A =TS T (1) AF128.15m2 = E 5k |
—

HhEREE (DA T HhEREE (2) A=110Fm2 I
EHE] : REWETL (2)A:‘110. Tm2

O O OO0 OO0 O0O0

EAEEETE

S$=1:50

XEOEEAIFAMY A XERTET D,

= T = % I FEILEHE 7S
EHEWBEI (1) : AsEJLZIL t=6 e St ok 2
TFHEEAEE (1) : SUNMEEIL ZJL, F15t=90
BERSET ()

ETERS T OBRET A
=ERSET ()

HEDIELE FER - REEMTER

& R X = E§%|1/2

X B| EHERSBELTERHER




FEBEEX

IRIGFTRER (1) IRIHFTKEE (2) RIHITKER (3) RIGITIKER (4)
S=

$=1:20 $=1:20 1:20 $=1:20

‘ @) p13a2s0

|

‘ @ o3

|

=] :l‘ 2 )—k —
=150

Co |

%

‘ @) p13e250 ‘
|
‘ @o13
|

ao)—Fk —

t=150

: D13@250

Wz) D13

O

150{150110

115
10010

T 150

500
500
500
500

930
2@250:
@250;

2@250
2@250
2

REHEIL() : AsEJLZIL t=6 REHEBEIL(2) : AsEJILZIL t=6
THEEAEE (1) : #|URMEE/LZ L, F19t=90 THEEREE (2) : SWURMEEI/LZ L, Fi9t=40
mEERSET ) EERSET ) =ERSET )

REWEL (1) : AsEILZILL=6
THEAE ()  |MUINEEILF )L, Fi9t1=20
BEKST (2)

10mH Y # ML ED] OB R 10mz% Y
m ; = EECEE: K ; w = P ® o |mp] % W E

24-12-25BB t=150| 24-12-25BB t=150| 24-12-25BB t=150 avyy—+ 24-12-25BB t=150
E
SD345 D13 SD345 D13 SD345 D13 F530] SD345 D13
¢ 16x100 @16 x 100 $16x100 HIFL $16x100
WER A5 S5 . S a1k 545 T 15 504K 155
CF-200 x5 CF-200 x5 CF-200 x5 1E K AR CF-200 x 5

10000

39@250=9750

‘ cO}i

1R HEKE

SHEERY TF LB ($350)
A2=0. 096M2 x 24<=0. 192m2

10

h

500 h

930~1000

D13

2@250

R Tom Yy
% W I EES

EEEA YIFLVE| ¢ 350 L=5.00m . h7La b srsmsaL
A1=0. 186m2 - X CDOEEIFA YA XERTET D,

THIFELEHME 7S
MBEETHh Bk R SRiE T

Al (BRREKERE) =0. 186m2 = A2 (IREEHE/KE@B/KERE) =0. 192m2 [0K] I = &

ETERS T OEBRET A

HEDIELE EIEEER

p Rl ==z E§%| 2.2

X B| EHERSBELTERHER




